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(a) Volumetric titration of 20 ml of CaCls solution required 40 ml of 0.1M EDTA solution. Determine

the hard ness of CaCly solution.

(b) Two liters of water obtained from a well near Vijayawada showed the following analysis per liter:
MgSO4 = 24 mg; Ca (HCO3)s = 32.4 mg; Mg (HCO3)s = 29.2 mg; CaSO4 = 27.2 mg; Suspended
6-+10]

matter = 36 mg calculate the total hardness of the solution in ppm units.

(a) What are Zeolites 7

(b) How is the softening of water carried out using Permutit Process? 00 [4+12]

. Justify the following statements with suitable examples.
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(a) the rate of corrosion is dependant on the nature of the corro virotfinent.
8]
(b) A pipe half buried in water undergoes corrosion fastj§" 8]

(a) Give a brief account of cathodic protectlon m enting corrosion.
8]
(b) Write a brief account on anodic coa 8]
(a) Explain the difference betwe tura synthetlc high polymers with suitable examples. [8]
(b) What is Polyethylene? anufactured7 Mention the different types of polyethylenes and
their uses. 8]
@ties of refractories. 8]
rical insulators 8]
e applications of lubricants
(c) Mention the important properties of lubricants [3+6+7]
. Give an account of the following:-

(a) Chemical composition of cement [5]
(b) Physical requirements of cement [6]
(c) Chemical constitution of Portland cement. [5]



